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K 4 FHEIO OB 4 fEHE 1 D E D+E | Ju | sl | JEGL | FER 2 D E D+E | J8us (= JERL | #ESa | NERL
M= KB 1 FLRMEG. RGZ 77 # =y | 3.500 | 5.750 9.250 | 0.00 | 9.250 1 777" | 4.550 | 6.050 #itHtH#HE | 0.00 | 10.600 1 19. 850 1
A BOIEASE p=7" | 2.900 | 5.750 8.650 | 0.00 | 8.650 2 )K"V | 3.500 | 6.450 | 9.950 | 0.00 = 9.950 @ 2 18. 600 2
FH EHR F1 Sieg R. G757 -V | 2.650 | 5.250 7.900 | 0.00 | 7.900 | 3 | YA 2.700 | 5.200 7.900 0.00 | 7.900 = 4 15. 800 3
KARF & | 13 S X AR RER) 77 n=7" | 2.300 | 5.500 7.800 | 0.00 = 7.800 @ 4 )£V | 2.050 | 5.750 | 7.800 | 0.00 & 7.800 6 15. 600 4
KW wE | 1 NP OFRITY-NY F =7 Fh n=7" | 2.650 | 4.850 7.500 | 0.00  7.500 5 )& | 2.300  5.650 | 7.950 @ 0.00 | 7.950 3 15. 450 5
KeE #EE  F2|Sieg R. G/ 57 p=7" | 2.400 | 4.850 7.250 | 0.00 | 7.250 | 6 )RV | 2.550 | 5.350 | 7.900 0.00 = 7.900 | 4 15.150 6
B 8 P ERETEL T EE ST 7777 | 2.400 | 4.650 7.050 | 0.00 | 7.050 7 )& | 2.000  4.900 | 6.900 = 0.00 | 6.900 7 13. 950 7
AT E20 | H2 EEFRLF-HFEEFR n=7" | 2.000 | 4.750 6.750 | 0.00 = 6.750 9 )£ | 1.750 | 5.100  6.850 | 0.00 | 6.850 8 13. 600 8
RK¥ ZH W2 |Sieg R. G757 n=7" | 2.200 | 4.500 6.700 | 0.00 = 6.700 | 10 | UK | 1.800 | 4.700  6.500 @ 0.00 = 6.500 9 13.200 9
&Mk Pl Y 2 = TR p=7" | 2.050 | 4.750 6.800 | 0.00  6.800 | 8 JE Y | 1.100 | 4.900 | 6.000 | 0.00 | 6.000 12 12.800 | 10
B BHAE | PR3 I 2 =T R 77 p-7" | 1.850 | 4.650 6.500 | 0.00 = 6.500 @11 )& | 1.150 | 4.750 | 5.900 | 0.00 | 5.900 | 14 12.400 | 11
NP F A il [INPO S IEARERZ 5 7RG B=7" | 1.200 | 4.800 6.000 | 0.00 = 6.000 | 14 | U&v | 1.650 | 4.600 | 6.250 | 0.00 | 6.250 | 11 12.250 | 12
fi il AR | L Y 2 =T R p=7" | 1.850 | 4.300 6.150 | 0.00 = 6.150 | 12 )& | 1.400 | 4.400 | 5.800 | 0.00 | 5.800 15 11.950 | 13
WO ZE | 1 [INPOSSIEARERY T 7RG 7777 1.200 | 4.300 5.500 | 0.00 | 5.500 15 | UK | 1.500 | 4.900 & 6.400 | 0.00  6.400 @ 10 11.900 | 14
ko E | T3 INPOESIEAKERY T 7RG K-V | 1.450 | 4.700 6.150 | 0.00 | 6.150 = 12 | /777 1.250 | 4.350 | 5.600 | 0.00 | 5.600 |16 11.750 | 15
RE W WL R | 3 Y 2 =TT n=7" | 1.000 | 4.200 5.200 | 0.00 | 5.200 | 17 JK Y | 1.050 | 4.900 | 5.950 | 0.00 | 5.950 | 13 11.150 | 16
JIBE R Bk | L Y 2 =T R 77 p-=7" | 1.350 | 4.050 5.400 | 0.00 = 5.400 = 16 )& | 1.500  4.100 | 5.600 | 0.00 | 5.600 | 16 11.000 | 17
B S E | R EERY 2 = TR p=7" | 0.900 | 3.850 4.750 | 0.00 = 4.750 | 18 | U&v | 1.100 | 4.450 | 5.550 | 0.00 = 5.550 |18 10.300 | 18
o A 2 KILET AR 77 v=7" | 0.700 | 4.000 4.700 | 0.00 | 4.700 | 19 )& | 0.900  4.250 | 5.150 | 0.00 | 5.150 | 19 9.850 | 19
BT ¥ 7= % | P AT 2 =T Hiike 77 p=7" | 0.500 | 3.900 4.400 | 0.00 = 4.400 | 21 | U&v | 0.750 | 4.250 | 5.000 | 0.00 = 5.000 20 9.400 | 20
H ¥ A 1R = =7 Bk 777 v=7" | 0.850 | 3.700 4.550 | 0.00 = 4.550 | 20 )& | 0.650  4.100 | 4.750 = 0.00 | 4.750 21 9.300 21




